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ZAD.2

  Obliczyć granice przy użyciu reguły d’Hospitala :
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Odpowiedzi:

a) ln 2; b) 0; c) 1; d) 1; e) 0; f) 
[image: image14.wmf]2

9

; g) 0; h) 0; i) 
[image: image15.wmf]9

1

; j) 
[image: image16.wmf]p

2

-

e

; k) 1; l) 1.

_232046820.unknown

_232047140.unknown

_232047460.unknown

_232047780.unknown

_232048100.unknown

_232048420.unknown

_232048740.unknown

_232049060.unknown

_232049380.unknown

_232049700.unknown

_232050020.unknown

_232050340.unknown

_231988256.unknown

_231988576.unknown

_231988896.unknown

